

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)										
Owner: Oshkosh WI, City of										
Solicitor: Oshkosh WI, City of										
Bid Opening: 02/02/2026 11:00 AM CST										

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	2235	Furnish and install Type 1 inlet (with 18" sump); complete as specified	Each	2.00	\$3,500.00	\$7,000.00	\$2,765.00	\$5,530.00
	2508	Furnish; install; maintain; and remove Type D modified inlet protection; complete as specified	Each	3.00	\$80.00	\$240.00	\$77.00	\$231.00
	2510	Sediment removal - Type D modified inlet protection; complete as specified	Each	2.00	\$312.00	\$624.00	\$31.00	\$62.00
	2512	Furnish; install; maintain; and remove stone tracking pad; complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$1.00	\$2.00
	2514	Furnish; install; maintain; and remove silt fence; complete as specified	Linear Feet	850.00	\$1.95	\$1,657.50	\$2.00	\$1,700.00
	2516	Furnish; install; maintain; and remove stone bag; complete as specified	Each	20.00	\$11.50	\$230.00	\$12.00	\$240.00
	2518	Furnish; install; maintain; and remove 12" diameter sediment logs; complete as specified	Linear Feet	80.00	\$6.50	\$520.00	\$6.50	\$520.00
	2522	Furnish; install; maintain; and remove ditch check; complete as specified	Each	34.00	\$75.00	\$2,550.00	\$72.00	\$2,448.00
	2856	Connect to existing storm sewer manhole; complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$550.00	\$550.00
	2902	Strip and stockpile topsoil; complete as specified	Square Yards	850.00	\$2.10	\$1,785.00	\$2.05	\$1,742.50
	3030	Furnish and install 8" sanitary sewer (new); complete as specified	Linear Feet	1,385.00	\$134.00	\$185,590.00	\$164.00	\$227,140.00
	3034	Furnish and install 12" sanitary sewer (new); complete as specified	Linear Feet	2,000.00	\$220.00	\$440,000.00	\$200.00	\$400,000.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Jossart Brothers, Inc.	PTS Contractors, Inc		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3036	Furnish and install 15" sanitary sewer (new); complete as specified	Linear Feet	790.00	\$232.00	\$183,280.00	\$228.00	\$180,120.00
	3100	Furnish and install standard sanitary sewer manhole (4' diameter); complete as specified	Vertical Feet	218.00	\$395.00	\$86,110.00	\$515.00	\$112,270.00
	3114	Furnish and install sanitary sewer external manhole chimney seal; complete as specified	Each	15.00	\$450.00	\$6,750.00	\$545.00	\$8,175.00
	3118	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit; complete as specified	Each	1.00	\$500.00	\$500.00	\$495.00	\$495.00
	3119	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit extension; complete as specified	Each	1.00	\$350.00	\$350.00	\$440.00	\$440.00
	3200	Furnish and install 8" x 4" sanitary sewer factory wyes or tees; complete as specified	Each	4.00	\$125.00	\$500.00	\$112.00	\$448.00
	3210	Furnish and install 8" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	9.00	\$150.00	\$1,350.00	\$135.00	\$1,215.00
	3214	Furnish and install 12" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	7.00	\$475.00	\$3,325.00	\$460.00	\$3,220.00
	3216	Furnish and install 15" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	2.00	\$850.00	\$1,700.00	\$860.00	\$1,720.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
						Jossart Brothers, Inc.		PTS Contractors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3230	Furnish and install 4" sanitary sewer laterals (new); complete as specified	Linear Feet	170.00	\$105.00	\$17,850.00	\$130.00	\$22,100.00
	3231	Furnish and install 4" sanitary sewer riser (new); complete as specified	Linear Feet	15.00	\$105.00	\$1,575.00	\$72.00	\$1,080.00
	3232	Furnish and install 6" sanitary sewer laterals (new); complete as specified	Linear Feet	750.00	\$107.00	\$80,250.00	\$133.00	\$99,750.00
	3233	Furnish and install 6" sanitary sewer riser (new); complete as specified	Linear Feet	130.00	\$107.00	\$13,910.00	\$75.00	\$9,750.00
	3236	Furnish and install sanitary sewer lateral marker balls; complete as specified	Each	46.00	\$30.00	\$1,380.00	\$43.00	\$1,978.00
	3238	Furnish and install clay dams; complete as specified	Each	22.00	\$75.00	\$1,650.00	\$173.00	\$3,806.00
	3300	Furnish and install connection to existing 8" sanitary sewer mains; complete as specified	Each	1.00	\$1,500.00	\$1,500.00	\$1,990.00	\$1,990.00
	3306	Furnish and install connection to existing 15" sanitary sewer mains; complete as specified	Each	1.00	\$2,500.00	\$2,500.00	\$12,275.00	\$12,275.00
	3330	Furnish and install sanitary sewer concrete collars; complete as specified	Each	1.00	\$750.00	\$750.00	\$1.00	\$1.00
	3600	Rock excavation; complete as specified	Cubic Yards	120.00	\$0.01	\$1.20	\$1.00	\$120.00
	3700	Closed circuit televising; complete as specified	Linear Feet	4,175.00	\$2.00	\$8,350.00	\$3.00	\$12,525.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)										
Owner: Oshkosh WI, City of										
Solicitor: Oshkosh WI, City of										
Bid Opening: 02/02/2026 11:00 AM CST										
					Jossart Brothers, Inc.		PTS Contractors, Inc			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension		
	3892	Excavation special (sanitary); complete as specified	Tons	20.00	\$20.00	\$400.00	\$1.00	\$20.00		
	4055	Furnish and install water service clay dams; complete as specified	Each	23.00	\$75.00	\$1,725.00	\$115.00	\$2,645.00		
	4062	Furnish and install connections to existing 10" water main; complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,985.00	\$2,985.00		
	4064	Furnish and install connections to existing 12" water main; complete as specified	Each	1.00	\$2,500.00	\$2,500.00	\$3,125.00	\$3,125.00		
	4119	Furnish and install 10" x 6" water main tee; complete as specified	Each	1.00	\$1,100.00	\$1,100.00	\$924.00	\$924.00		
	4128	Furnish and install 12" x 6" water main tee; complete as specified	Each	8.00	\$1,300.00	\$10,400.00	\$1,142.00	\$9,136.00		
	4129	Furnish and install 12" x 8" water main tee; complete as specified	Each	1.00	\$1,400.00	\$1,400.00	\$1,215.00	\$1,215.00		
	4130	Furnish and install 12" x 10" water main tee; complete as specified	Each	1.00	\$1,625.00	\$1,625.00	\$1,425.00	\$1,425.00		
	4131	Furnish and install 12" x 12" water main tee; complete as specified	Each	1.00	\$1,700.00	\$1,700.00	\$1,495.00	\$1,495.00		
	4236	Furnish and install 6" 45 degree water main bend; complete as specified	Each	20.00	\$370.00	\$7,400.00	\$320.00	\$6,400.00		
	4255	Furnish and install 8" water main cap; complete as specified	Each	1.00	\$300.00	\$300.00	\$265.00	\$265.00		
	4311	Furnish and install 12" water main plug; complete as specified	Each	2.00	\$750.00	\$1,500.00	\$640.00	\$1,280.00		
	4401	Furnish and install 6" water main gate valve; complete as specified	Each	10.00	\$2,175.00	\$21,750.00	\$1,890.00	\$18,900.00		

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)										
Owner: Oshkosh WI, City of										
Solicitor: Oshkosh WI, City of										
Bid Opening: 02/02/2026 11:00 AM CST										
					Jossart Brothers, Inc.		PTS Contractors, Inc			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension		
	4402	Furnish and install 8" water main gate valve; complete as specified	Each	2.00	\$3,075.00	\$6,150.00	\$2,680.00	\$5,360.00		
	4403	Furnish and install 10" water main gate valve; complete as specified	Each	4.00	\$4,400.00	\$17,600.00	\$3,840.00	\$15,360.00		
	4404	Furnish and install 12" water main gate valve; complete as specified	Each	18.00	\$5,425.00	\$97,650.00	\$4,755.00	\$85,590.00		
	4500	Furnish and install hydrant; complete as specified	Each	9.00	\$5,900.00	\$53,100.00	\$5,930.00	\$53,370.00		
	4800	Rock excavation; complete as specified	Cubic Yards	20.00	\$0.01	\$0.20	\$1.00	\$20.00		
	4990	Excavation special (water); complete as specified	Tons	20.00	\$0.01	\$0.20	\$1.00	\$20.00		
Section 2: Alternate 1 (Will Not be Awarded)						\$746,860.00		\$822,960.00		
	4020-1	Furnish and install new 6" ductile iron water main with polywrap; complete as specified	Linear Feet	180.00	\$106.00	\$19,080.00	\$168.00	\$30,240.00		
	4022-1	Furnish and install new 8" ductile iron water main with polywrap; complete as specified	Linear Feet	30.00	\$120.00	\$3,600.00	\$195.00	\$5,850.00		
	4024-1	Furnish and install new 10" ductile iron water main with polywrap; complete as specified	Linear Feet	580.00	\$136.00	\$78,880.00	\$145.00	\$84,100.00		
	4026-1	Furnish and install new 12" ductile iron water main with polywrap; complete as specified	Linear Feet	3,750.00	\$153.00	\$573,750.00	\$158.00	\$592,500.00		
	4042-1	Furnish and install 1" water service (new); complete as specified	Linear Feet	950.00	\$62.00	\$58,900.00	\$103.00	\$97,850.00		
	4048-1	Furnish and install 1" corporation and stop box; complete as specified	Each	23.00	\$550.00	\$12,650.00	\$540.00	\$12,420.00		
Section 3: Alternate 2 (To Be Awarded)						\$541,000.00		\$621,660.00		

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Jossart Brothers, Inc.	PTS Contractors, Inc		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	4020-2	Furnish and install new 6" C900 water main with polywrap; complete as specified	Linear Feet	180.00	\$82.00	\$14,760.00	\$150.00	\$27,000.00
	4022-2	Furnish and install new 8" C900 water main with polywrap; complete as specified	Linear Feet	30.00	\$90.00	\$2,700.00	\$165.00	\$4,950.00
	4024-2	Furnish and install new 10" C900 water main with polywrap; complete as specified	Linear Feet	580.00	\$98.00	\$56,840.00	\$105.00	\$60,900.00
	4026-2	Furnish and install new 12" C900 water main with polywrap; complete as specified	Linear Feet	3,750.00	\$108.00	\$405,000.00	\$114.00	\$427,500.00
	4043-2	Furnish and install 1-1/4" water service (new); complete as specified	Linear Feet	950.00	\$48.00	\$45,600.00	\$88.00	\$83,600.00
	4050-2	Furnish and install 1-1/4" corporation and stop box; complete as specified	Each	23.00	\$700.00	\$16,100.00	\$770.00	\$17,710.00
Bid Total						\$2,476,832.47		\$2,663,040.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
						Dorner Inc.		Vinton Construction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid						\$2,471,439.61		
	1010	Clearing; complete as specified	Stations	1.00	\$2,570.00	\$2,570.00	\$3,000.00	\$3,000.00
	1020	Grubbing; complete as specified	Stations	1.00	\$2,570.00	\$2,570.00	\$3,000.00	\$3,000.00
	1050	Mobilization; complete as specified	Lump Sum	1.00	\$27,857.00	\$27,857.00	\$124,000.00	\$124,000.00
	1100	Removing pavement; complete as specified	Square Yards	4,800.00	\$0.01	\$48.00	\$0.01	\$48.00
	1120	Removing concrete and asphalt sidewalk and driveway; complete as specified	Square Feet	85.00	\$4.40	\$374.00	\$3.00	\$255.00
	1200	Unclassified excavation; complete as specified	Cubic Yards	4,400.00	\$23.00	\$101,200.00	\$20.91	\$92,004.00
	1220	Excavation special (paving); complete as specified	Tons	115.00	\$0.01	\$1.15	\$0.01	\$1.15
	1360	Adjust manholes and inlets; complete as specified	Each	15.00	\$601.00	\$9,015.00	\$480.00	\$7,200.00
	1370A	Turf restoration on West 9th Avenue; complete as specified	Square Yards	821.60	\$10.40	\$8,544.64	\$6.75	\$5,545.80
	1370B	Turf restoration on Clairville Road; complete as specified	Square Yards	2,404.60	\$10.20	\$24,526.92	\$6.75	\$16,231.05
	1370C	Turf restoration on Windsong Terrace; complete as specified	Square Yards	1,769.50	\$10.20	\$18,048.90	\$6.75	\$11,944.13
	1372	Restore gravel driveway/apron; complete as specified	Square Yards	300.00	\$8.00	\$2,400.00	\$18.00	\$5,400.00
	1650	Locate existing property monuments; complete as specified	Each	45.00	\$55.00	\$2,475.00	\$125.00	\$5,625.00
	1651	Replace section corner; complete as specified	Each	2.00	\$739.00	\$1,478.00	\$1,050.00	\$2,100.00
	1652	Replace existing property monuments; complete as specified	Each	5.00	\$57.00	\$285.00	\$25.00	\$125.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Dorner Inc.	Vinton Construction Company		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1700	Sawing existing pavement; complete as specified	Linear Feet	200.00	\$2.00	\$400.00	\$4.00	\$800.00
	1710	Sawing concrete pavement full depth; complete as specified	Linear Feet	175.00	\$3.00	\$525.00	\$4.00	\$700.00
	1800	Base aggregate dense; 3/4"; complete as specified	Tons	410.00	\$26.20	\$10,742.00	\$30.54	\$12,521.40
	1801	Base aggregate dense; 1-1/4"; complete as specified	Tons	470.00	\$15.00	\$7,050.00	\$17.32	\$8,140.40
	1900	Tack coat; complete as specified	Gallons	800.00	\$4.60	\$3,680.00	\$3.00	\$2,400.00
	1905	5" asphaltic pavement MT with 10" CABC and grading; complete as specified	Square Yards	9,700.00	\$39.30	\$381,210.00	\$27.75	\$269,175.00
	1906	4" asphaltic pavement LT with 10" CABC and grading; complete as specified	Square Yards	1,825.00	\$38.00	\$69,350.00	\$26.00	\$47,450.00
	1916	4" asphaltic surface LT with 6" CABC and grading; complete as specified	Square Yards	90.00	\$43.60	\$3,924.00	\$64.95	\$5,845.50
	2004	Furnish and install 12" RCP Class III storm sewer; complete as specified	Linear Feet	60.00	\$55.00	\$3,300.00	\$99.90	\$5,994.00
	2006	Furnish and install 15" storm sewer; complete as specified	Linear Feet	140.00	\$64.00	\$8,960.00	\$104.00	\$14,560.00
	2140	Furnish and install 12" RCP Class III apron endwall with joint ties; complete as specified	Each	2.00	\$850.00	\$1,700.00	\$1,490.00	\$2,980.00
	2201	Furnish and install standard storm sewer manhole (4' diameter); complete as specified	Vertical Feet	5.00	\$612.00	\$3,060.00	\$846.00	\$4,230.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)							
Owner: Oshkosh WI, City of							
Solicitor: Oshkosh WI, City of							
Bid Opening: 02/02/2026 11:00 AM CST							
					Dorner Inc.	Vinton Construction Company	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price
	2235	Furnish and install Type 1 inlet (with 18" sump); complete as specified	Each	2.00	\$3,213.00	\$6,426.00	\$3,556.00
	2508	Furnish; install; maintain; and remove Type D modified inlet protection; complete as specified	Each	3.00	\$125.00	\$375.00	\$75.00
	2510	Sediment removal - Type D modified inlet protection; complete as specified	Each	2.00	\$30.00	\$60.00	\$30.00
	2512	Furnish; install; maintain; and remove stone tracking pad; complete as specified	Each	2.00	\$1,480.00	\$2,960.00	\$0.01
	2514	Furnish; install; maintain; and remove silt fence; complete as specified	Linear Feet	850.00	\$2.90	\$2,465.00	\$1.85
	2516	Furnish; install; maintain; and remove stone bag; complete as specified	Each	20.00	\$15.40	\$308.00	\$11.00
	2518	Furnish; install; maintain; and remove 12" diameter sediment logs; complete as specified	Linear Feet	80.00	\$9.00	\$720.00	\$6.25
	2522	Furnish; install; maintain; and remove ditch check; complete as specified	Each	34.00	\$50.00	\$1,700.00	\$70.00
	2856	Connect to existing storm sewer manhole; complete as specified	Each	1.00	\$1,055.00	\$1,055.00	\$670.00
	2902	Strip and stockpile topsoil; complete as specified	Square Yards	850.00	\$1.00	\$850.00	\$2.00
	3030	Furnish and install 8" sanitary sewer (new); complete as specified	Linear Feet	1,385.00	\$211.00	\$292,235.00	\$236.20
	3034	Furnish and install 12" sanitary sewer (new); complete as specified	Linear Feet	2,000.00	\$328.00	\$656,000.00	\$284.90
							\$569,800.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)							
Owner: Oshkosh WI, City of							
Solicitor: Oshkosh WI, City of							
Bid Opening: 02/02/2026 11:00 AM CST							
					Dorner Inc.	Vinton Construction Company	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price
	3036	Furnish and install 15" sanitary sewer (new); complete as specified	Linear Feet	790.00	\$348.00	\$274,920.00	\$331.00
	3100	Furnish and install standard sanitary sewer manhole (4' diameter); complete as specified	Vertical Feet	218.00	\$558.00	\$121,644.00	\$524.00
	3114	Furnish and install sanitary sewer external manhole chimney seal; complete as specified	Each	15.00	\$498.00	\$7,470.00	\$516.00
	3118	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit; complete as specified	Each	1.00	\$437.00	\$437.00	\$425.00
	3119	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit extension; complete as specified	Each	1.00	\$283.00	\$283.00	\$300.00
	3200	Furnish and install 8" x 4" sanitary sewer factory wyes or tees; complete as specified	Each	4.00	\$213.00	\$852.00	\$245.00
	3210	Furnish and install 8" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	9.00	\$313.00	\$2,817.00	\$268.00
	3214	Furnish and install 12" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	7.00	\$723.00	\$5,061.00	\$648.00
	3216	Furnish and install 15" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	2.00	\$1,128.00	\$2,256.00	\$970.00
							\$1,940.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Dorner Inc.	Vinton Construction Company		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3230	Furnish and install 4" sanitary sewer laterals (new); complete as specified	Linear Feet	170.00	\$92.00	\$15,640.00	\$76.60	\$13,022.00
	3231	Furnish and install 4" sanitary sewer riser (new); complete as specified	Linear Feet	15.00	\$192.00	\$2,880.00	\$65.00	\$975.00
	3232	Furnish and install 6" sanitary sewer laterals (new); complete as specified	Linear Feet	750.00	\$90.00	\$67,500.00	\$108.65	\$81,487.50
	3233	Furnish and install 6" sanitary sewer riser (new); complete as specified	Linear Feet	130.00	\$194.00	\$25,220.00	\$65.00	\$8,450.00
	3236	Furnish and install sanitary sewer lateral marker balls; complete as specified	Each	46.00	\$32.00	\$1,472.00	\$30.00	\$1,380.00
	3238	Furnish and install clay dams; complete as specified	Each	22.00	\$107.00	\$2,354.00	\$165.00	\$3,630.00
	3300	Furnish and install connection to existing 8" sanitary sewer mains; complete as specified	Each	1.00	\$2,991.00	\$2,991.00	\$670.00	\$670.00
	3306	Furnish and install connection to existing 15" sanitary sewer mains; complete as specified	Each	1.00	\$13,169.00	\$13,169.00	\$1,542.00	\$1,542.00
	3330	Furnish and install sanitary sewer concrete collars; complete as specified	Each	1.00	\$807.00	\$807.00	\$200.00	\$200.00
	3600	Rock excavation; complete as specified	Cubic Yards	120.00	\$100.00	\$12,000.00	\$50.00	\$6,000.00
	3700	Closed circuit televising; complete as specified	Linear Feet	4,175.00	\$1.20	\$5,010.00	\$3.12	\$13,026.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)							
Owner: Oshkosh WI, City of							
Solicitor: Oshkosh WI, City of							
Bid Opening: 02/02/2026 11:00 AM CST							
					Dorner Inc.	Vinton Construction Company	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price
	3892	Excavation special (sanitary); complete as specified	Tons	20.00	\$21.00	\$420.00	\$20.00
	4055	Furnish and install water service clay dams; complete as specified	Each	23.00	\$102.00	\$2,346.00	\$165.00
	4062	Furnish and install connections to existing 10" water main; complete as specified	Each	1.00	\$3,413.00	\$3,413.00	\$3,195.00
	4064	Furnish and install connections to existing 12" water main; complete as specified	Each	1.00	\$3,558.00	\$3,558.00	\$3,828.00
	4119	Furnish and install 10" x 6" water main tee; complete as specified	Each	1.00	\$1,247.00	\$1,247.00	\$1,292.20
	4128	Furnish and install 12" x 6" water main tee; complete as specified	Each	8.00	\$1,517.00	\$12,136.00	\$1,702.00
	4129	Furnish and install 12" x 8" water main tee; complete as specified	Each	1.00	\$1,594.00	\$1,594.00	\$1,967.80
	4130	Furnish and install 12" x 10" water main tee; complete as specified	Each	1.00	\$1,852.00	\$1,852.00	\$2,265.00
	4131	Furnish and install 12" x 12" water main tee; complete as specified	Each	1.00	\$1,930.00	\$1,930.00	\$182.40
	4236	Furnish and install 6" 45 degree water main bend; complete as specified	Each	20.00	\$491.00	\$9,820.00	\$498.40
	4255	Furnish and install 8" water main cap; complete as specified	Each	1.00	\$392.00	\$392.00	\$650.00
	4311	Furnish and install 12" water main plug; complete as specified	Each	2.00	\$453.00	\$906.00	\$697.90
	4401	Furnish and install 6" water main gate valve; complete as specified	Each	10.00	\$2,225.00	\$22,250.00	\$2,157.00
							\$21,570.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)							
Owner: Oshkosh WI, City of							
Solicitor: Oshkosh WI, City of							
Bid Opening: 02/02/2026 11:00 AM CST							
					Dorner Inc.	Vinton Construction Company	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price
	4402	Furnish and install 8" water main gate valve; complete as specified	Each	2.00	\$3,103.00	\$6,206.00	\$2,943.00
	4403	Furnish and install 10" water main gate valve; complete as specified	Each	4.00	\$4,370.00	\$17,480.00	\$4,186.05
	4404	Furnish and install 12" water main gate valve; complete as specified	Each	18.00	\$5,382.00	\$96,876.00	\$5,098.00
	4500	Furnish and install hydrant; complete as specified	Each	9.00	\$6,818.00	\$61,362.00	\$5,871.00
	4800	Rock excavation; complete as specified	Cubic Yards	20.00	\$100.00	\$2,000.00	\$0.01
	4990	Excavation special (water); complete as specified	Tons	20.00	\$21.00	\$420.00	\$20.00
Section 2: Alternate 1 (Will Not be Awarded)					\$764,991.00		\$898,496.00
	4020-1	Furnish and install new 6" ductile iron water main with polywrap; complete as specified	Linear Feet	180.00	\$105.00	\$18,900.00	\$130.00
	4022-1	Furnish and install new 8" ductile iron water main with polywrap; complete as specified	Linear Feet	30.00	\$138.00	\$4,140.00	\$152.00
	4024-1	Furnish and install new 10" ductile iron water main with polywrap; complete as specified	Linear Feet	580.00	\$139.00	\$80,620.00	\$100.40
	4026-1	Furnish and install new 12" ductile iron water main with polywrap; complete as specified	Linear Feet	3,750.00	\$158.00	\$592,500.00	\$188.60
	4042-1	Furnish and install 1" water service (new); complete as specified	Linear Feet	950.00	\$58.00	\$55,100.00	\$74.80
	4048-1	Furnish and install 1" corporation and stop box; complete as specified	Each	23.00	\$597.00	\$13,731.00	\$1,478.00
Section 3: Alternate 2 (To Be Awarded)					\$564,322.00		\$719,746.07

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Dorner Inc.	Vinton Construction Company		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	4020-2	Furnish and install new 6" C900 water main with polywrap; complete as specified	Linear Feet	180.00	\$88.00	\$15,840.00	\$94.88	\$17,078.40
	4022-2	Furnish and install new 8" C900 water main with polywrap; complete as specified	Linear Feet	30.00	\$109.00	\$3,270.00	\$94.71	\$2,841.30
	4024-2	Furnish and install new 10" C900 water main with polywrap; complete as specified	Linear Feet	580.00	\$101.00	\$58,580.00	\$120.53	\$69,907.40
	4026-2	Furnish and install new 12" C900 water main with polywrap; complete as specified	Linear Feet	3,750.00	\$113.00	\$423,750.00	\$141.94	\$532,275.00
	4043-2	Furnish and install 1-1/4" water service (new); complete as specified	Linear Feet	950.00	\$46.00	\$43,700.00	\$61.64	\$58,558.00
	4050-2	Furnish and install 1-1/4" corporation and stop box; complete as specified	Each	23.00	\$834.00	\$19,182.00	\$1,699.39	\$39,085.97
Bid Total						\$3,035,761.61		\$3,038,594.12

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid						\$2,481,267.83		\$2,599,034.15
	1010	Clearing; complete as specified	Stations	1.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00
	1020	Grubbing; complete as specified	Stations	1.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00
	1050	Mobilization; complete as specified	Lump Sum	1.00	\$74,450.00	\$74,450.00	\$455,000.00	\$455,000.00
	1100	Removing pavement; complete as specified	Square Yards	4,800.00	\$5.00	\$24,000.00	\$5.00	\$24,000.00
	1120	Removing concrete and asphalt sidewalk and driveway; complete as specified	Square Feet	85.00	\$3.00	\$255.00	\$0.80	\$68.00
	1200	Unclassified excavation; complete as specified	Cubic Yards	4,400.00	\$24.50	\$107,800.00	\$20.00	\$88,000.00
	1220	Excavation special (paving); complete as specified	Tons	115.00	\$12.00	\$1,380.00	\$0.01	\$1.15
	1360	Adjust manholes and inlets; complete as specified	Each	15.00	\$400.00	\$6,000.00	\$425.00	\$6,375.00
	1370A	Turf restoration on West 9th Avenue; complete as specified	Square Yards	821.60	\$5.95	\$4,888.52	\$10.00	\$8,216.00
	1370B	Turf restoration on Clairville Road; complete as specified	Square Yards	2,404.60	\$5.95	\$14,307.37	\$10.00	\$24,046.00
	1370C	Turf restoration on Windsong Terrace; complete as specified	Square Yards	1,769.50	\$5.95	\$10,528.53	\$10.00	\$17,695.00
	1372	Restore gravel driveway/apron; complete as specified	Square Yards	300.00	\$6.00	\$1,800.00	\$40.00	\$12,000.00
	1650	Locate existing property monuments; complete as specified	Each	45.00	\$53.05	\$2,387.25	\$53.05	\$2,387.25
	1651	Replace section corner; complete as specified	Each	2.00	\$719.05	\$1,438.10	\$719.04	\$1,438.08
	1652	Replace existing property monuments; complete as specified	Each	5.00	\$55.17	\$275.85	\$55.17	\$275.85

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1700	Sawing existing pavement; complete as specified	Linear Feet	200.00	\$2.50	\$500.00	\$3.00	\$600.00
	1710	Sawing concrete pavement full depth; complete as specified	Linear Feet	175.00	\$3.00	\$525.00	\$3.00	\$525.00
	1800	Base aggregate dense; 3/4"; complete as specified	Tons	410.00	\$25.50	\$10,455.00	\$60.00	\$24,600.00
	1801	Base aggregate dense; 1-1/4"; complete as specified	Tons	470.00	\$15.35	\$7,214.50	\$18.00	\$8,460.00
	1900	Tack coat; complete as specified	Gallons	800.00	\$4.50	\$3,600.00	\$4.50	\$3,600.00
	1905	5" asphaltic pavement MT with 10" CABC and grading; complete as specified	Square Yards	9,700.00	\$30.75	\$298,275.00	\$22.00	\$213,400.00
	1906	4" asphaltic pavement LT with 10" CABC and grading; complete as specified	Square Yards	1,825.00	\$29.75	\$54,293.75	\$21.00	\$38,325.00
	1916	4" asphaltic surface LT with 6" CABC and grading; complete as specified	Square Yards	90.00	\$37.70	\$3,393.00	\$32.50	\$2,925.00
	2004	Furnish and install 12" RCP Class III storm sewer; complete as specified	Linear Feet	60.00	\$88.00	\$5,280.00	\$94.00	\$5,640.00
	2006	Furnish and install 15" storm sewer; complete as specified	Linear Feet	140.00	\$98.00	\$13,720.00	\$99.00	\$13,860.00
	2140	Furnish and install 12" RCP Class III apron endwall with joint ties; complete as specified	Each	2.00	\$1,345.00	\$2,690.00	\$1,500.00	\$3,000.00
	2201	Furnish and install standard storm sewer manhole (4' diameter); complete as specified	Vertical Feet	5.00	\$835.00	\$4,175.00	\$600.00	\$3,000.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	2235	Furnish and install Type 1 inlet (with 18" sump); complete as specified	Each	2.00	\$3,021.00	\$6,042.00	\$3,500.00	\$7,000.00
	2508	Furnish; install; maintain; and remove Type D modified inlet protection; complete as specified	Each	3.00	\$95.00	\$285.00	\$100.00	\$300.00
	2510	Sediment removal - Type D modified inlet protection; complete as specified	Each	2.00	\$50.00	\$100.00	\$10.00	\$20.00
	2512	Furnish; install; maintain; and remove stone tracking pad; complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$0.01	\$0.02
	2514	Furnish; install; maintain; and remove silt fence; complete as specified	Linear Feet	850.00	\$2.05	\$1,742.50	\$3.00	\$2,550.00
	2516	Furnish; install; maintain; and remove stone bag; complete as specified	Each	20.00	\$20.00	\$400.00	\$10.00	\$200.00
	2518	Furnish; install; maintain; and remove 12" diameter sediment logs; complete as specified	Linear Feet	80.00	\$7.95	\$636.00	\$10.00	\$800.00
	2522	Furnish; install; maintain; and remove ditch check; complete as specified	Each	34.00	\$20.00	\$680.00	\$100.00	\$3,400.00
	2856	Connect to existing storm sewer manhole; complete as specified	Each	1.00	\$500.00	\$500.00	\$500.00	\$500.00
	2902	Strip and stockpile topsoil; complete as specified	Square Yards	850.00	\$2.00	\$1,700.00	\$5.00	\$4,250.00
	3030	Furnish and install 8" sanitary sewer (new); complete as specified	Linear Feet	1,385.00	\$264.00	\$365,640.00	\$230.00	\$318,550.00
	3034	Furnish and install 12" sanitary sewer (new); complete as specified	Linear Feet	2,000.00	\$304.50	\$609,000.00	\$250.00	\$500,000.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3036	Furnish and install 15" sanitary sewer (new); complete as specified	Linear Feet	790.00	\$343.00	\$270,970.00	\$270.00	\$213,300.00
	3100	Furnish and install standard sanitary sewer manhole (4' diameter); complete as specified	Vertical Feet	218.00	\$692.00	\$150,856.00	\$600.00	\$130,800.00
	3114	Furnish and install sanitary sewer external manhole chimney seal; complete as specified	Each	15.00	\$616.00	\$9,240.00	\$550.00	\$8,250.00
	3118	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit; complete as specified	Each	1.00	\$665.00	\$665.00	\$550.00	\$550.00
	3119	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit extension; complete as specified	Each	1.00	\$515.00	\$515.00	\$550.00	\$550.00
	3200	Furnish and install 8" x 4" sanitary sewer factory wyes or tees; complete as specified	Each	4.00	\$183.00	\$732.00	\$250.00	\$1,000.00
	3210	Furnish and install 8" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	9.00	\$204.00	\$1,836.00	\$300.00	\$2,700.00
	3214	Furnish and install 12" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	7.00	\$448.00	\$3,136.00	\$600.00	\$4,200.00
	3216	Furnish and install 15" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	2.00	\$890.00	\$1,780.00	\$1,000.00	\$2,000.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3230	Furnish and install 4" sanitary sewer laterals (new); complete as specified	Linear Feet	170.00	\$123.00	\$20,910.00	\$160.00	\$27,200.00
	3231	Furnish and install 4" sanitary sewer riser (new); complete as specified	Linear Feet	15.00	\$123.00	\$1,845.00	\$165.00	\$2,475.00
	3232	Furnish and install 6" sanitary sewer laterals (new); complete as specified	Linear Feet	750.00	\$140.00	\$105,000.00	\$170.00	\$127,500.00
	3233	Furnish and install 6" sanitary sewer riser (new); complete as specified	Linear Feet	130.00	\$140.00	\$18,200.00	\$170.00	\$22,100.00
	3236	Furnish and install sanitary sewer lateral marker balls; complete as specified	Each	46.00	\$30.00	\$1,380.00	\$25.00	\$1,150.00
	3238	Furnish and install clay dams; complete as specified	Each	22.00	\$300.00	\$6,600.00	\$100.00	\$2,200.00
	3300	Furnish and install connection to existing 8" sanitary sewer mains; complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
	3306	Furnish and install connection to existing 15" sanitary sewer mains; complete as specified	Each	1.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00
	3330	Furnish and install sanitary sewer concrete collars; complete as specified	Each	1.00	\$0.01	\$0.01	\$1,000.00	\$1,000.00
	3600	Rock excavation; complete as specified	Cubic Yards	120.00	\$0.01	\$1.20	\$0.01	\$1.20
	3700	Closed circuit televising; complete as specified	Linear Feet	4,175.00	\$2.07	\$8,642.25	\$2.00	\$8,350.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	3892	Excavation special (sanitary); complete as specified	Tons	20.00	\$12.00	\$240.00	\$0.01	\$0.20
	4055	Furnish and install water service clay dams; complete as specified	Each	23.00	\$150.00	\$3,450.00	\$100.00	\$2,300.00
	4062	Furnish and install connections to existing 10" water main; complete as specified	Each	1.00	\$3,162.00	\$3,162.00	\$1,000.00	\$1,000.00
	4064	Furnish and install connections to existing 12" water main; complete as specified	Each	1.00	\$3,598.00	\$3,598.00	\$1,100.00	\$1,100.00
	4119	Furnish and install 10" x 6" water main tee; complete as specified	Each	1.00	\$1,016.00	\$1,016.00	\$1,200.00	\$1,200.00
	4128	Furnish and install 12" x 6" water main tee; complete as specified	Each	8.00	\$1,332.00	\$10,656.00	\$1,500.00	\$12,000.00
	4129	Furnish and install 12" x 8" water main tee; complete as specified	Each	1.00	\$1,404.00	\$1,404.00	\$1,600.00	\$1,600.00
	4130	Furnish and install 12" x 10" water main tee; complete as specified	Each	1.00	\$1,610.00	\$1,610.00	\$1,700.00	\$1,700.00
	4131	Furnish and install 12" x 12" water main tee; complete as specified	Each	1.00	\$1,683.00	\$1,683.00	\$1,800.00	\$1,800.00
	4236	Furnish and install 6" 45 degree water main bend; complete as specified	Each	20.00	\$356.00	\$7,120.00	\$600.00	\$12,000.00
	4255	Furnish and install 8" water main cap; complete as specified	Each	1.00	\$309.00	\$309.00	\$500.00	\$500.00
	4311	Furnish and install 12" water main plug; complete as specified	Each	2.00	\$366.00	\$732.00	\$600.00	\$1,200.00
	4401	Furnish and install 6" water main gate valve; complete as specified	Each	10.00	\$1,922.00	\$19,220.00	\$2,200.00	\$22,000.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)							
Owner: Oshkosh WI, City of							
Solicitor: Oshkosh WI, City of							
Bid Opening: 02/02/2026 11:00 AM CST							
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price
	4402	Furnish and install 8" water main gate valve; complete as specified	Each	2.00	\$2,733.00	\$5,466.00	\$3,200.00
	4403	Furnish and install 10" water main gate valve; complete as specified	Each	4.00	\$3,882.00	\$15,528.00	\$4,400.00
	4404	Furnish and install 12" water main gate valve; complete as specified	Each	18.00	\$4,818.00	\$86,724.00	\$5,100.00
	4500	Furnish and install hydrant; complete as specified	Each	9.00	\$6,716.00	\$60,444.00	\$6,000.00
	4800	Rock excavation; complete as specified	Cubic Yards	20.00	\$150.00	\$3,000.00	\$0.01
	4990	Excavation special (water); complete as specified	Tons	20.00	\$12.00	\$240.00	\$0.01
Section 2: Alternate 1 (Will Not be Awarded)					\$830,122.00		\$956,650.00
	4020-1	Furnish and install new 6" ductile iron water main with polywrap; complete as specified	Linear Feet	180.00	\$93.00	\$16,740.00	\$140.00
	4022-1	Furnish and install new 8" ductile iron water main with polywrap; complete as specified	Linear Feet	30.00	\$150.00	\$4,500.00	\$145.00
	4024-1	Furnish and install new 10" ductile iron water main with polywrap; complete as specified	Linear Feet	580.00	\$150.75	\$87,435.00	\$170.00
	4026-1	Furnish and install new 12" ductile iron water main with polywrap; complete as specified	Linear Feet	3,750.00	\$170.00	\$637,500.00	\$190.00
	4042-1	Furnish and install 1" water service (new); complete as specified	Linear Feet	950.00	\$73.50	\$69,825.00	\$110.00
	4048-1	Furnish and install 1" corporation and stop box; complete as specified	Each	23.00	\$614.00	\$14,122.00	\$500.00
Section 3: Alternate 2 (To Be Awarded)					\$653,623.00		\$781,300.00

Contract 26-07 - Clairville Road Sanitary Sewer and Water Main Extension Construction (#10011918)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 02/02/2026 11:00 AM CST								
					Advance Construction Inc.		Carl Bowers & Sons Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	4020-2	Furnish and install new 6" C900 water main with polywrap; complete as specified	Linear Feet	180.00	\$76.00	\$13,680.00	\$120.00	\$21,600.00
	4022-2	Furnish and install new 8" C900 water main with polywrap; complete as specified	Linear Feet	30.00	\$113.00	\$3,390.00	\$125.00	\$3,750.00
	4024-2	Furnish and install new 10" C900 water main with polywrap; complete as specified	Linear Feet	580.00	\$115.00	\$66,700.00	\$140.00	\$81,200.00
	4026-2	Furnish and install new 12" C900 water main with polywrap; complete as specified	Linear Feet	3,750.00	\$131.00	\$491,250.00	\$150.00	\$562,500.00
	4043-2	Furnish and install 1-1/4" water service (new); complete as specified	Linear Feet	950.00	\$62.50	\$59,375.00	\$100.00	\$95,000.00
	4050-2	Furnish and install 1-1/4" corporation and stop box; complete as specified	Each	23.00	\$836.00	\$19,228.00	\$750.00	\$17,250.00
Bid Total						\$3,134,890.83		\$3,380,334.15